' iy 1

RYH7ASS

Herleta oitem - [, 2015-16
SUMMATIVE ASSESSMENT - I, 2015-16

o / MATHEMATICS
HEM - X /Class - X
M4 T99:3 hours sifiream 3 - 00
Time Allowed: 3 hours Maximmuom Marks: 90
o= e ;
L uY T s

2 T WH 9 31N T, P wmmest an, |\, w2 8 wig v 1 meeesr F g v
& ol wiw 1 30 1 % mvsa F 6w € P v 2 39 © mue-w S 10 v
& Tl Wb ¥ 3 30 ¥ o mvE- 2 F 11 v # Rt woiw i 4 30 £ i
3. T YET v W fawer o 2
4 'WETH#W?EIHEI
General Instuctions:

L. All questions are compalsory.

2 The question paper consists of 31 questions divided mto four sections A, B, C and
L. Section-A comprises of 4 questions of 1 mark each: Section-B comprises of &
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks sach.

3. There is no overall choice in this question paper.

4 Use of calculator is nol permitted.

TEUE-M / SECTION-A
U HE 1 H 4 Y yEE = 1 S 2

Crusstion numbers 1 1o 4 carry one mark each

1 ADEW, ¥ ABEW 21 I AD =4 cm, DE=12 cm B DW=24cm & & BDF1 59 70 571 1

= In ADEW, AB|[EW. If AD=4 cm, DE=12 cm and D)W =24 &, then find the value of DE.

2 T W ; sinf.sec (W°—0) A
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Evaluate : sinfl_sec (90— @)

3 tan 55 tan 45" tan 35" T OF T S99 |

Find the wahie of tan 55" tan 45" tan 35"

/ﬁﬁhﬁuﬁﬂmaﬁﬂwﬂmaﬁm:

Fofe W g=wis [ 1400- [ 1550-1700 | 1700-1850 | 1850-2000
I FF s
el w G |8 T s

From the following frequency distobotion, find fhe median oass

Cost of Bving | 1400~ | 1550-1700 | 1700-1850 | 1850-2000
index 1550

.
1

rlumber of weeks | 8 i 5

- 8

TR A ST 10T 7EF & 2 55 6

HII-T [ SECTION-B

Question numbxers 5 W 10 carry two marks each.

-
-

w e Fafl g 12, 63 2 00 %1 HOE =7 Lo 9 SsifE G)

Find HCT and LCM of 12, 63 and 99 using prime factorisation meth A £l
ey =L
;’/ﬁﬁmﬁmlﬁﬂﬂﬂﬁﬂ“ i [ T HE WA U W S b

Check whether 15 can end with the digit 0 for any natural number n.

7 A o T p RIS 02+ 12y+ 4 F IEE B A ok ok oft B TE 05 R0 |
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In trapezium ABCD with ABJCD, if AB=~C1 and ar{AAOB) =21 cm?, find ar{ACOD),
|
£, maﬂ.'%.q o0k i 1 — siod 2

1+ siné cosh

cosl 11— sinf

Prowe that ; — =
11 sinf cosh

10 00 St = me sl Tre w50 sfEs T WSl W 10 = 7 AW 5 R e 2

o 5 TR 100, T S S S R s a6 S

The mean and median of 100 observations are 50 and 52 respectively. The value of the largest
ohservation is 10X, [t'was later found that it is 110 not 100, Fnd the troe mean and median,

WUT-H / SECTION-C -
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Cwestion numbers 11 to 20 carry three marks each.

/dﬂﬁﬂﬁ#ﬁﬁﬁﬂﬂ: foe o i 6q 41, 6q+3 W aq+5 5 T T T =l ﬂﬁlt,aaﬁq
= g e F

Show that any posilive odd integer is of the form 6g+1, 6g+3 or 6+5 where q is some
whiole nurmber, @

12 > St e ol F g s e fafa g e i R = Pyl F i o w3
/ o ta AR iz &

Solve the following svstem of linear equations graphically and find fhe vertices of the triangle
bounded by these Tines and x — axis -

x—y—1=0, x+1=0

-
/E//ﬁgtrcrz+{3—~fﬂ:—3ﬂﬁﬂﬁ{"ﬂﬁ%l ﬂﬁﬂwmm' S

If one 7ero of a polynomial x° + %—. J'L_'}:r 3% s +fZ , then find the cther zero,

14 o EEm e | uE 4 ma@hﬂmmmhw%ﬂﬁmmml 3

a)
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16 AADC 37 ABBC U5 5 SR BC W 1 A% AR 9EH W BC T D W Wiiwe s, Al fes w3
. f{ﬂﬁﬁf_] _ by |
ar (AKRC) ED -

id D B

AABC and AEBC are on the same base BC. TFAE
ar (AABC) _ AD
ar (AEBC) ED

A

17 (tané0")?+4 cos? 45° +dcosec” 61 +2c0s” 90°
3 oo 9004 3 maﬂ“—% cott 30°




18

a

it

Eraluate

{  Fana
2 cosec 307 + 3 sec 607 3 cok” 30

4 a cosh +b sing =x T8 a sind—b cosh =y, T €T a°

{nblr }1 +4 oS- 45° T#LU‘SECE-:??_?

Wm0t

i ALE T T SRR I
1§ 2 coséh+ b sinfl =¥ and a sinf —b cosd=y, prove thata™+b-= 1=+ ¥~

T = = wEEE {E Hifag |

T T T e . ]
HE | femifsi = dem

25 ST 25§ SN | 52

25 smal 35 W SE= | 47

o = e Lrd
| 45 a7t 45 € Hfa® | 37

55 am4d] 55 § 3R | 17

o

65 S19ET 65 H S

]Emafﬁﬁmﬁiﬁ 2
|

85 Y] 85 % JHE | 0

—1
Calculate the mode of the following distribution table

| Marks Nao. of students
25 or abowve 25 52 :
35 or above 35 47 '
45 or above 45 | e
53 or abowve 55 17 i
65 or above B5 8 i

L



20

" SR d2A e wRR R e fe T

P

21

Fi

[ 75 ar above 75 2

85 or abave 85 ]
s )
% T SR St ¥ O e I o T T S e e N F I S HEnE 3

A Ty | 14 47 710 [1013 [ 1316 1&1ﬂ

O & T | 10 25 a5 x 12 5

iz ! I | i
ﬂﬁwﬁﬂﬁﬁrmﬂaﬁaﬁaﬂma%ﬁrﬁqmmmaﬂﬁm |\©

Some sumames were picked up from a local telephone directory and the frequency
distribution of the number of letters of the English alphabets was obtained as follows -

Mumber of letiers 1-4 47 7-10 | 10413 | 1316 | 1619

Number of surnames | 10 25 35 x 12 5

il
Ifitiﬁgivmﬂ'm['mn_de_ﬂfﬁwdishﬂmlinnisﬂ,ﬂimﬁ:ndﬂmmiwinglmqumq’{l]- =

EUE-T [ SECTION-D
T e 21 W31 H RET E g dw g
Question numbers 21 to 31 carry four marks each.

T THar T 3 396 TR SR 342 TWEd =) SRS F T R Y 4
TR & o T Teg S e T 2 mmmﬁﬁaﬁqﬂwm
IH Fify fw T = S o0 O 5949 _- E

ﬁsweﬂﬂmpkm}umpﬁmsﬂégalhbjmmﬂﬁﬂ?ﬁhfhpam&mw
comtainers. Each container consists of cither gulab jamuns or ras-gullas but have eyqual
number of pieces. Find the number of picces he shonld put in each box so thal number of
boxes are least,

a ¥ b F T wHl & o F=faias e g THF 9 e 8 4

Zr+3y=7 alx+yj—bx=y)=3a+b-2
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For what values of a and b does the following pair of linear equations have infinite number of
soludions 7

x+Iy=7, afx+y)—b(x—y)=3a+b-2

y I TETE x4 + 2% 4 B2+ 12x + 18 T S5 9E9E 42+ 5H WA S W 9IRS px+g B, il pARg 1 4

If the palynomial (x*+2r% 4 8x24 12x & 18) is divided by another polynormal (x*+5), the
remainder comes out to be (px +qg), find the values of pand g.

T B T 25— 40?4047 £ 5+ 1 TR VR HE w11 §H WS W e F el S e 4
o, Tawi- el 10 % ves dam H ven T WW B ) wels ool S 20 - 4x 41 T
Toredt s 9= % a1g 21— 2 Of dm g9 nd | FawE g9 3 5 9 A0Es =1 = w6 el
F o h =) 39 ol = e v iy, B g v BEn o w2 § e T W T

‘The school decided to create [und represented by 2r* —4x% 4 Q?E-I.- L The fund is equally
divided between students of the school who has secared 12 Rank in each section of class 110,
Each student receives an amount of $3—4x+ 1, while after distribution, 21x—3 amount is left.
'The School Management decides o nse this amount to fund economacally weaker studernds.
Find the number of students who recerred the fond. What valoes have been depicted here 7

AABC T T e ¥ faail /B=90" ¥1 AB 3R BC 4
hifey TR
)  4PCI=4BCR4+AR?
@ 4AQ?=4 AR+ BC2 (
Ak

(i)  4PC?4 AQR=5 AC?

AABC is right triangle with #B=%". P and Q) are nespechvely mid-points of AI and BC
Prove that :

(ij 4PCZ=4BCl+AR?

(i) 4AQ%=1 ms? + BC2
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(@) APC2+4AQ%=3AC7

AN SRS m MM Bm I R A 10 m T2 W E v =L & =0d T --’~:=_
T W & e M A e S Rt Ee i T A T F whrale e w = am
it

If two poles 5 m and 15 m high are 100 m apart,'then find the heighi of the point of
intersection of the line joining the top of each pole to the foot rfihecpp:.utpnle Ae

i sn e 2 e i s S e £
-l i

a

il sind = — - find the value all other trigonometric ratios.,
".|'zr2+|:\~2

28 fag =ik ; 4
2sin® -+ cosPi) — 3(sind0+ cosli)=—
Prove :
sin®8+ cosh8) — 3(sint -+ costl)= —

29 oz =ifem . 4 (N 4
1:riv
m['ﬂ+cclﬂeeﬂ-—1__1+nuﬂﬂ
OB —oosecti 4 1 sl ) ‘i]
F"-lmetl'ﬂt: A
Eﬂtﬂ+mﬁ—\__i+ﬁ_uﬂﬂ

nﬂwﬂmﬁ-ﬂ_ﬁn‘ﬂ_
/ﬁﬁﬁﬂﬁﬁmﬁﬁmﬁaﬁ#m&mﬁ;ﬁﬁrﬂ#aﬂmm#ﬁﬁmw%l 4
Ul i g w7 FTeT FE it
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| 16-24 | 2832 | ao-an | 2048 | m_}q| 54-152| »

ECIT: &5 08 |B1s

Wri=rssn |6 |3 |12 |13 |u w0 s

| |
p——__.l I

- = I -t
J/J-'-‘ﬂfuwing 15 the ages of asthmatic patients admitted during a }-ear in a hospital. Fnd the
mean age of the patients.

|ﬂg¢:|{1nvca.ra] IY: '&15 |mz4 2-1-32'32—1U|4D:4Hj-1a-54'5-1-ﬁ2|

D rfer ot

Mumber ﬂ[| : ‘
[ 25 | 3 11 14 o]
S | _1;-_ 1 ‘11

L | f | | Bl

/31 1 92, U T & o) TreniET & s =ma T foniifat % Ty o e YR TR R | 4

|9 (kg M) [ 4014 | 4249 4852 | 52.56 | 56-60 | 60-62 51-ﬁs'm.m|

faenfe=i =7

i e !
!

4 & 10 |14 10 5 & |2 |

]
The following distribution gl‘ﬂ:“i the weights of 60 students of a ;:I.ﬁs_ Find the mean and

mode weighis of the students,
| Weight | | [ '

40-44 | 4448 | 4832 ’_’:-.1 S6-64) | G0-64 | 6468 | 6872
{'I'.I'lkg:l e "I L ot 4 | IL--. 3 - of ' B E]
]
Mumber of
b 4 Ly 10 10 ] [E &
i | L. r
-~ Do lo-
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